<

e >3 FI07TEER P ED S - B P F 32 e i E PR
- ~HEH D EHSA 5 2104

1. ( )2 a=sin (7?) 3BT 5|v— BEIE L2

1

(Aya==1 (B)=1<a=—- (C)—%<a§0 (D) 0<a= (E)%<a§lo

1
2

2 )R 9T = g B g2
(A)3 % (B)4® (C)5® (D)6 (E)7® -

SN S EERA(FRHESA P B LEM @S > B2E L AR ITEOA 0 £244)

I. ( K> 3#cy=6 cos(2X+§j FIRD5 0 T A At iaﬁﬂﬁéi?

(A)—6=y=6 (B)RAeik# 2271 (C)RA;4 2 :e:m:%

(D) x= —%fr%yja Bl & (E)FA 54 y=6 cos2x () % iif;%ﬁ A

2. ( )iﬁxﬁﬂ%@#ﬁ'ﬂﬁljﬁ_—%—fr%ig&ﬁ,ﬁ?’r—§<x<§,

7 M Sdlicf (x) =cosx+ eRATil o vRE B pren Q

COS X

(M) f(x) =f(=x) (B)f(x) =3 (C)f (x) ] L6 (D)f(x) Fd=iE-

30 TR SEPEEY S 17 (A)sin2x+cos2x (B)sin(x%j —+sinx

o

(C) | sin2x+cos2x | (D) | sin2x | + | cos2x | (E) | tanx

BN R
i 3 tan x+5 _
' tan x+1

ko %éxé% v E k2 BAEAIM B £ %m o KM+m

7. ;/Q()<(9<% s B (1—sin@ ) ® (1+sin@ ) s+ & %

3. 4[> ABCD % & 2 chi 2 ) PIALAIA g ff 5

A D




10.

. x5 . . ’
> AR g+g=|cosx|—cosx1i?+?’—f<*p B o

K- BV2ZFed 560" Frutzafad EP7HEZ G f
;é‘FFBAB:

Wl - FMA T TRLEEL 205033 60 ftdad 2 KA
2

T
6

2 y=cosx+4sinx+3 2 Bt EE Mo k) EE mo

[}
9
w (Y
IA
=
IA

PFéd e 8 BL 50 & pF 0 PR o v koo g & G

, v N O . ,
#ey=cose 2 {14) 0 kIS b RAL R KR ’ﬁaéiﬁ%gﬁ -

RS> e NI RAkPSBEEw t TH 6H =7 FEA;
FOTE 2 2N 5 y=acos (bx—c) +d BB (a' b c>d) =

~

b 0=x<2m##@Ep > ¢ wddcf (x) =cosx+3 | cosx | @752 2
g KR Bk i R o

= B>

Bl M—m=

(* 58 R A7) o

K

(cBd ] iE)

Hy=kist A B2 eh



BB 2FYE 107 FERPED S

- CHEA: (FES5A - £ 104)

i

2

7

B Y B R T 2

AT

W

SEER I (FHIEES A R 1 ERELL,  B2ERMIRARIFTF0L X 2448)

1 2 3
Z lE LR
FHRE| 1 2 3 4 5 6 7 8 9 10
A ik | 10 18 26 32 40 46 52 57 62 66
1 2 3 5
6 7 8 10




Bt 232’ 107 FERVEDPF PP IR AE EmELLEFRE

CVHEH (FHS5A £ 104)

I

1

2

(C)

(D)

7

‘B

AT

W

SEERA I (FAIHTEA > R IEATAL > B2ER MR RTE 04 » £ 24 0)

1 2 3
(A)(C) (A)DB) (A)(E)
Z lE LR
el | 1 2 3 4 5 6 7 8 9 10
A # |10 | 18 | 26 | 32 | 40 | 46 | 52 | 57 | 62 | 66
1 2 3 4 5
27 _ 4z :
8 " 4— 43 + . 2 3:2
6 7 8 9 10
18 % 73_7; (5’3%’6) 2 <k<4k=0
(b B- Bo- L)




